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d=(b*b-4*a*c)**(1/2)

x1=(-b+d)/(2*a)

x2=(-b-d)/(2*a)

print(x1)#3.0

print(x2)#0.5
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a=int(input("input a grade: "))#FEEE input {H[E[FHAIRE

if(a>=90) : # =90 3k A
r="A"
else :
if(a>=80): # 41 80 EL190 43 F B */
r='B'
else :
1f(a>=70):
r="C'
else :
r='D'

print("the grade 1s %c" % r)
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for b in range(1,b+1) :
s=s+a
print(s)#40
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foriinrange(0,6):
print(a[i])

foriin range(0,6):
ali]=ali]*2
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a=9
foriin range(9):
if i*i>=a:
print(i)#3
break
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a=9
s=10#JU R B
foriin range(a*s):
if (i/s)*(i/s)>=a:
print(i/s)#3.0
break
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a=9
s=100# B 55
foriin range(a*s):
if (i*i/(s**2))>=(a):
print(i/s)
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y=9.0
x1=0.0
X2=y
n=1
while (abs(x1-x2)>0.01):#EgEES0.01 44855
print("%d:x1=%2.2f,x2=%2.2f" %(n,x1,x2))
x=(x1+x2)/2
t=x*X
1f t<y
x1=x
else:
X2=x
n=n+l
print(x)#2.99
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import random

import time# 1] DL{sHE F 247 [E] R =

r=0

w=0



tl=int(time.time())#HU S &EHF ], BE L2 FD
foriin range(10):
a=random.randint(1,9)
b=random.randint(1,9)
c=a+b
d=int(input('%d :%2d+%2d='% (i+1,a,b)))
if d==c:
r=r+1
else:
w=w+1
t2=int(time.time())
t=t2-t1
print(‘The right answer is:%d'% r)
print('The wrong answer is:%d'% w)
print('total time=%d second'% t)
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import time #{&E F] time.time()
a=['look','at','one’,'two’,'tree’,'and’,'day’,'book’,'from’,'go']
n=10
right=0
wrong=0
tl=int(time.time())#H{5 A0 FEIHYRDEL
foriin range(n):

print(a[i],":")

b=input()

if b==ali]:

right=right+1
else:
wrong=wrong+1

t2=int(time.time())
t=t2-t1
print('right=%d'% right)
print('wrong=%d'% wrong)
print('total time=%d second'% t)
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1~ 1 a=['look','at','one’,'two’, 'tree’,'and’,'day','book’, 'from','go'] 4 & a=['look
at one two tree and day book from go'] » Wi BEFE 52 R DA F&EFIThEE
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import time

a=[["bus","n","/AH" ],
["delighted", "adj", "r=EHAY"],
["gear", "n", "HREE"],
["behave", "v", "FH"],
["attract", "v", "HE5["],
["criticism", "n", "f#EEE"],
["concerned", "adj", "{ELMA"],
["There are four people in my family.", " ", "FMZ=HHEEA"],
["good", "adj", "#FHY"],
["apple", "n", "FER"],
["look", "v"', "&R"],
["book","n","&E"],
["television","n","ZE12"],
["cellphone","n"," F1#"]]

n=10

right=0

wrong=0

tl=int(time. time())#HUT R GRFEAIFE
for 1 in range(n):
print(al[i][2],a[i][1],":")
b=input()
if b==a[1][0]:
right=right+l

else:



wrong=wrong+l
t2=int(time.time())
t=t2-tl
print('right=%d'% right)
print('wrong=%d'% wrong)
print('total time=%d second'% t)
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import time

a=[["book","n","2", "B, " L,
["dellghted" "adj", "1","SELY", " ARERY", AR, MEAY",
["gear", "n","3", "B E", "HEF","PREE", "EEF],
["behave", "v","2" , "4 IR, "EEAE", "EHE]"],
"attract”, "v","4", TR, TR, RS 1,
["criticism", "n","1" "HEFE", "FE3E", "5REH", "EA"],
["concerned", "adj","1", "0 ", S ELEY", ML CEY", AR SR,
n=7
c=0
d=0
tl=int(time.time())
foriin range(n):
print("%d . %s,%s :" % (i+1,a[i][0],a[i][1]),end=")#E%F5% - REH
forjinrange(1,4+1):
print("(%d) %s :" % (j,alillj+2]),end=")# - VU{[E EETH
b=input()
if (b==ali][2]):
c=c+1
print("Right")
else:
print("Wrong")
d=d+1
t2=int(time.time())



t=t2-t1

print("The Right number is :%d"%c)
print("The wrong number is :%d"%d)
print('total time=%d second'% t)



